/He6eT0HHa CTiHa
1350

250

n. WWTOK
h=2500

2 Tinb3n (0TB(
D-2

3600

)pm/

DMM

1150

Tpoba B nianosi 40x20
B Nianoasi

1500

\_../

td N

&En. po3ekTa

Y\En. po3ekTa

h=1100

h=1100

2500

€TOHHAa CTiHa

Tpoba B nianosi 60x20
B nianosi

/e6eT0HHa CTiHa

n. po3ekTta
2///E=7oo

th. posekTa
:¥/////E=7oo

TV posekTta

h=700

||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

'
|||||||||||||||

|||||||||||||||||||||||

|||||||||||||||

|||||||||||||||||||||||

|||||||||||||||

|||||||||||||||||||||||

N,
||||||||||||||||

Eth. p03eKTa/

h=400

TV posekTa

h=400

\En. po3ekTa

h=400



